Beziehungadaptiertes (aCIELAB ( C*5p o L*) und relativesCIELAB ( c*, t*)
LG49_LCD projector_2 0%_Fadin =Ly = L) £ (L - LA )
m=(L*m N w-L'N

. lap =1 japr = C¥japs [*m = 0.5]
D¥lab* *ap=Capal Capam
M=Maximalfarbe

CIELAB-Bunttonwinkel:

hap,=[38, 96, 151, 236, 305, 354]
hap =126, 92, 162, 217, 272, G2
@%|ap*=C*jap+ COS hyp

b*jap*=C*jap+ SiN hyp

relative Buntheit
a*jap




Beziehungadaptiertes (aCIELAB ( C*5p o L*) und relativesCIELAB ( c*, t*)
LG49_LCD projector_2 0%_Fadit =Ly = L) £ (L - LA )
m=(L*m N w-L'N

. lap =1 japr = C¥japs [*m = 0.5]
D¥lab* *ap=Capal Capam
M=Maximalfarbe

CIELAB-Bunttonwinkel:

hap,=[38, 96, 151, 236, 305, 354]
hap =126, 92, 162, 217, 272, G2
@%|ap*=C*jap+ COS hyp

b*jap*=C*jap+ SiN hyp

relative Buntheit
a*jap




Beziehungadaptiertes (aCIELAB ( C*5p o L*) und relativesCIELAB ( c*, t*)
LG49_LCD projector_2 0,6%_Fadin =Ly = L) £ (L - LA )
m=(L*m N w-L'N

CIELAB-Bunttonwinkel:
hap, =[38, 96, 151, 236, 305, 354]
hay (26, 92, 162, 217, 272,928}

lap =1 japr = C¥japs [*m = 0.5]

* * =
D¥lab* *ap=Capal Capam

M=Maximalfarbe

Ajap=C*lap+ COS M
b*jap*=C*jap+ SiN hyp

relative Buntheit
a*jap




Beziehungadaptiertes (aCIELAB ( C*5p, o L*) und relativesCIELAB ( c*, t*)
LG49_LCD projector_2 0,6%_Fadit =Ly = L) £ (L - LA )
m=(L*m N w-L'N

. lap =1 japr = C¥japs [*m = 0.5]
D¥lab* *ap=Capal Capam
M=Maximalfarbe

CIELAB-Bunttonwinkel:
hap,=[38, 96, 151, 236, 305, 354]
hap (26, 92, 162, 217, 272, 323
b+ =C*jap+ COS M

b*jap*=C*jap+ SiN hyp

relative Buntheit
a*jap




Beziehungadaptiertes (aCIELAB ( C*5p o L*) und relativesCIELAB ( c*, t*)
LG49_LCD projector_2 1,2%_Fadin =Ly = L) £ (L - LA )
m=(L*m N w-L'N

CIELAB-Bunttonwinkel:
hap, =[38, 96, 151, 236, 305, 354]
hay (26, 92, 162, 217, 272, 928)

lap =1 japr = C¥japs [*m = 0.5]

* * =
D¥lab* *ap=Capal Capam

M=Maximalfarbe

8%ap*=C*jap+ COS hyp
b*|ap*=C*jap+ SIN Moy

relative Buntheit
a*jap




Beziehungadaptiertes (aCIELAB ( C*5p o L*) und relativesCIELAB ( c*, t*)
LG49_LCD projector_2 1,2%_Fadit =Ly = L) £ (L - LA )
m=(L*m N w-L'N

. lap =1 japr = C¥japs [*m = 0.5]
D¥lab* *ap=Capal Capam
M=Maximalfarbe

CIELAB-Bunttonwinkel:

hap,=[38, 96, 151, 236, 305, 354]
hap =126, 92, 162, 217, 272,328
@%ap*=C*jap+ COS hyp

b*jap+=C*jap+ SiN hyp

relative Buntheit
a*jap




Beziehungadaptiertes (aCIELAB ( C*5p o L*) und relativesCIELAB ( c*, t*)
LG49_LCD projector_2 2,5%_Fadin =Ly = L) £ (L - LA )
m=(L*m N w-L'N

CIELAB-Bunttonwinkel:
hap, =[38, 96, 151, 236, 305, 354]
hay (26, 92, 162, 217, 272,928))

lap =1 japr = C¥japs [*m = 0.5]

* * =
D¥lab* *ap=Capal Capam

M=Maximalfarbe

a¥|gpr=C*|ap COS hyp
2°|ap*=C*jap+ SIN Mo

relative Buntheit
a*jap




Beziehungadaptiertes (aCIELAB ( C*5p, o L*) und relativesCIELAB ( c*, t*)
LG49_LCD projector_2 2,5%_Fadit =Ly = L) £ (L - LA )
m=(L*m N w-L'N

. lap =1 japr = C¥japs [*m = 0.5]
D¥lab* *ap=Capal Capam
M=Maximalfarbe

CIELAB-Bunttonwinkel:

hap,=[38, 96, 151, 236, 305, 354]
hap =126, 92, 162, 217, 272,928
@%ap*=C*jap+ COS hyp

0ab*=C*jab+ SIN hap

relative Buntheit
a*jap




Beziehungadaptiertes (aCIELAB ( C*5p o L*) und relativesCIELAB ( c*, t*)
LG49_LCD projector_2 5%_Fadin =Ly = L) £ (L - LA )
m=(L*m N w-L'N

. lap =1 japr = C¥japs [*m = 0.5]
D¥lab* *ap=Capal Capam
M=Maximalfarbe

CIELAB-Bunttonwinkel:

hap,=[38, 96, 151, 236, 305, 354]
hap 126, 92, 162, 217, 272,339
@%|ap*=C*jap+ COS hyp

©%ap*=C*jap+ SiN hyp

relative Buntheit
a*jap




Beziehungadaptiertes (aCIELAB ( C*5p o L*) und relativesCIELAB ( c*, t*)
LG49_LCD projector_2 5%_Fadit =Ly = L) £ (L - LA )
m=(L*m N w-L'N

. lap =1 japr = C¥japs [*m = 0.5]
D¥lab* *ap=Capal Capam
M=Maximalfarbe

CIELAB-Bunttonwinkel:

hap,=[38, 96, 151, 236, 305, 354]
hap 126, 92, 162, 217, 272,339
@%|ap*=C*jap+ COS hyp

©%ap*=C*jap+ SiN hyp

relative Buntheit
a*jap




Beziehungadaptiertes (aCIELAB ( C*5p o L*) und relativesCIELAB ( c*, t*)
LG49_LCD projector_2 10%_Fadin Fp=(*m =~ L)/ - L* )

. lap = apr = C*jap+ [*m = 0.5]
D¥labt cae=Cap,a! C*an,am

CIELAB-Bunttonwinkel:
hap,=[38, 96, 151, 236, 305, 354]
hap =26, 92, 162, 217, 272,\330) M=Maximalfarbe

@%|ap*=C*jap+ COS hyp
b* i+ =C*jap+ SIN Moy

relative Buntheit
a*jap




Beziehungadaptiertes (alCIELAB ( C*5p o L*) und relativesCIELAB ( c*, t*)
LG49_LCD projector_2 10%_Fadit Fp=(*m =~ L)/ - L* )

. lap = apr = C*jap+ [*m = 0.5]
D¥labt cae=Cap,a! C*an,am

CIELAB-Bunttonwinkel:
hap,=[38, 96, 151, 236, 305, 354]
hap (26, 92, 162, 217, 272,\330) M=Maximalfarbe

@%|ap*=C*jap+ COS hyp
b* i+ =C*jap+ SIN Moy

relative Buntheit
a*jap




Beziehungadaptiertes (aCIELAB ( C*5p o L*) und relativesCIELAB ( c*, t*)
LG49_LCD projector_2 20%_Fadin Fp=(*m =~ L)/ - L* )

. lap = apr = C*jap+ [*m = 0.5]
D¥labt cae=Cap,a! C*an,am

CIELAB-Bunttonwinkel:
hap,=[38, 96, 151, 236, 305, 354]
hap (26, 92, 162, 217, 272,338] M=Maximalfarbe

@%|ap*=C*jap+ COS hyp
b*|ap*=C*jap+ SIN Moy

relative Buntheit
a*jap




Beziehungadaptiertes (aCIELAB ( C*5p o L*) und relativesCIELAB ( c*, t*)
LG49_LCD projector_2 20%_Fadit Fp=(*m =~ L)/ - L* )

. lap = apr = C*jap+ [*m = 0.5]
D¥labt cae=Cap,a! C*an,am

CIELAB-Bunttonwinkel:
hap,=[38, 96, 151, 236, 305, 354]
hap (26, 92, 162, 217, 272,338] M=Maximalfarbe

@%|ap*=C*jap+ COS hyp
b*|ap+=C*jap+ SIN Moy

relative Buntheit
a*jap




Beziehungadaptiertes (alCIELAB ( C*5p o L*) und relativesCIELAB ( c*, t*)
LG49_LCD projector_2 40%_Fadin Fp=(*m =~ L)/ - L* )
. lap = apr = C*jap+ [*m = 0.5]
D¥lab* *ap=Capal Capam
M=Maximalfarbe

CIELAB-Bunttonwinkel:
hap, =[38, 96, 151, 236, 305, 354]
hap, (26, 92, 162, 217, 272, 829

@%|ap*=C*jap+ COS hyp
b*|ap+=C*jap+ SIN Moy

relative Buntheit
a*jap




Beziehungadaptiertes (alCIELAB ( C*5p o L*) und relativesCIELAB ( c*, t*)
LG49_LCD projector_2 40%_Fadit Fp=(*m =~ L)/ - L* )
. lap = apr = C*jap+ [*m = 0.5]
D¥lab* *ap=Capal Capam
M=Maximalfarbe

CIELAB-Bunttonwinkel:
hap, =[38, 96, 151, 236, 305, 354]
hap,&=(26, 92, 162, 217, 272, 829

@%|ap*=C*jap+ COS hyp
b*|ap+=C*jap+ SIN Moy

relative Buntheit
a*jap




